(DICS31)

B.A./B.Com./B.Sc./B.H.M./B.B.A./B.B.M. DEGREE EXAMINATION, NOVEMBER 2021.
Third Year

SCIENCE AND CIVILIZATION

Time : One and half hours Maximum : 50 marks

SECTION A — (2 x 13 = 26 marks)

Answer any TWO of the following questions in 6 lines.

Write about the age of metals.
S°5° 0K0AL00K0 K809 (P00,

Write about the theory of Copernicus.
§°5ER DgroBBnd K808 ErokaH.

Describe various types of vaccination.
DD 850 35700 K80 IHBOHZN.

Describe the invention of various Engines in brief.
DD 8570 0HOEH0O 80D HoFID0M [E°0080.

What are the main sources of energy?
DDE 8570 38 HHKHe0 AD? IHBOHHW.

SECTION B — (3 x 4 = 12 marks)
Answer any THREE of the following.
(a) Pythagorus

PEHED.

(b) Pesticides
18OTB00.

(¢) Gellelio
ROOSD.

(d) Detergents

GeIB08000.
23

(e) Green Revolution

SGLESEEN



®

(8

(h)

®

Television
£309e3:0.

Welfare
ROgR0D.
ICBM
0.9.9.%.

Communications.
PSINSasnilef 5&5@0&.

SECTION C — (3 X 4 = 12 marks)

Answer ALL questions.

Fill in the blanks :
PO FHPBoYHH:

()

(b)

(©

(d)

Who invented penicillin
DOV ERORDHS

Who invented printing press
930 OPOBDV0 EXON"VIE IHE?

Who invented compass
BETYDD ELoN"AIE HB0?

Father of Green Revolution
B ;’)Qb DTEDOTOED

Choose the correct answer :
DBAR BITGPRHRV am&?’mm.

()

(b)

DDT is used as
&3 B S8 TSI

(1) a Poison (11)
DT

(111) a mosquito repellant @1v)
&%500 9863

Vitamin is a

DEOOD DT

(1)  Fertilizer (11)
DY)

(iv)

(ii1) Micro nutrient
Qg DEAE0

drug for fever
2350°08 H00e%d

a fertilizer

QD)

Harmone

Drug
LA

(DICS31)



(c) Diabetes is caused by
BOEIBOTPH0 BODOD )0

(1) 1in sects
Seos50e0

(111) lack of insulin

aéchSS S%30
(d) Solar energy is a
588 B 2.8

(1) conventional energy
Sle]isiniovs) ‘fé_go DB

(i11)) chemical energy
Se00DE ‘é_§°
Match the following:
23HIGO:

(a) Vaccine
e35° B0

(b) Chloropharm
§:6’S©°CSO

(¢) Printing Machine
930 ADO®H

(d) Insulin
amQ@S

®

(i1)

(1)

(iv)

(11) mosquitoes
5000

(iv) housefly
Sei{e0

(i1) non-conventional energy

DoRTaey B8 S

(iv) atomic energy
e 38

Charles Gutenberg
FBQ g3 ond

Harmone

28 :yss‘*&m
Edward Jenner
o)c:éosg éé&s

Anesthetic
zéoégozéoocﬁo

(DICS31)



(DBMAT 31)

B.A./B.Sc. DEGREE EXAMINATION, NOVEMBER 2021.
Third Year
Mathematics III — RINGS AND LINEAR ALGEBRA

Time : Three hours Maximum : 70 marks

SECTION A — (8 x 3 = 24 marks)
Answer ALL questions.
Each question carries 3 marks.

Prove that a field has no zero divisors.

500K BIPRg oS00 D) @9 JArSo&.

The homomorphic image of a ring is a ring.

28 HOANO GBE); FEIHT® [FQDVON0 DB DO BYBIOY.

If f is a homomorphism of a ring R into a ring R’ then Kerf is anideal of R .

f: R —> R $00H 3508758 Bn¥), Kerf R $0057d8 estitio eos.

Prove that the linear span L(S) of any subset S of a vector space V(F ) is a subspace of
V(F).

V(F) Sorzrosoedos® dpme &5308 S G, awerrg) L(S), V(F) @w), éao8oEsn od
DoeHok.

Show that the mapping 7 : R? > R? defined by T(a,b) = (Za + 3b, 3a — 4b) is a linear

transformation.

T : R* > R* |500% d853%0 T(a,b) = (2a + 3b, 3a — 4b) awer 58583500 @r°Hod.

=~ O Ot

10
Find the characteristic equation of A, where A =|0 2
31

SR8 A = @ORIPG A BoE); SPEERE SRETR) E0E 0.

w o =
= N o
= oy Ot



10.

State and prove Cauchy- Schwarz inequality in an inner product space V(F )

V(F) ©088ar0soos0s” 8% 30,5 e0ardsy (35900 Era090s.

Find a unit vector orthogonal to (4, 2, 3) in R® with respect to the standard inner product.

R® 080°30S° (4, 2, 3) IB%K €020 ot CIDES BEER 508%,08.

(a)

(b)

(a)

(@)

(i1)

(@)

(i)

(@)

(i)

SECTION B — (4 x 11 ¥ = 46 marks)

Answer ALL questions.
Each answer question 11 1/2 marks.

Every finite integral domain is a field.

98 IBS FJ &R a8 Boo @ DETV0D0E.

Prove that an ideal U of a commutative ring R with unity is maximal if and only
if the quotient ring R /U is a field.

B IO KO DA0IK JO0DPD R S U D @(5630 ©QEBH0 D08 ea;é‘ré§§,
DTG DOIVD0 YY) DOAPD R /U F1B0o e/ @ HHod.

Or
Z' is a principal ideal ring.
Z 550 et SedhHo
State and prove fundamental theorem of homomorphism of rings.

S000H0 08 IETTIH oo ﬁ)zgow’f{)& DETN0H0E.

Let W, and W, be two subspaces of a finite dimensional vector space V(F). Then
prove that dim(W, + Wz) = dim W, + dim W, — dim(W, N Wz).

W, W, e a8 3808 58557 3870d0edo V(F) & éar0807wren e050mr0 eped
dim(W, + W,) = dim W, + dim W, — dim(W, N W, ) & 35508,

Can we express the vector o = (2, -5, 3) as a linear combination of the vectors
e = (1, 1, 1) e, = (1, 2, 3) and e; = (2, -1, 1) in R3(R).

R(R)SD a=2-53) e 888 2 e =0,1,1)e =(1,2,3) 08w
e; = (2, -1, 1) 00 3830 SoBIrKom™ [EPaHKe8I®?

Or
2



11.

(b)

(a)

(b)

(@)

(i1)

(@)

(i)

(@)

(i)

Find the null space, range , rank and nullity of the linear combination

T : R? - R®is defined by T(x,y) = (x +y,x—Y, y).

T(x,y)=(x+y, x -y y) ™ 5000085 T : R? - R® 2.8 JEST°® Sre2r088e9500
D508 T Boog); §°6, B mrgBroBorenn BIdghsHue §3087,08.

If ¢ : V(F) - V(F) is a homomorphism. Show that Kerg is a subspace of V(F).

¢ V(F) > V(F) 28 3870808 530858 eond V(F) & Kerg 2.8 édoboedo

2900 DIH0&.

Find the eigen values and the corresponding eigen vectors of the matrix

311
A=|2 4 2.
11 3
(3 1 1
A=]2 4 2| e o DED 0K D0Hen DBA DR BEFL EA DD,
11 3
-10 6 3 0 -6 -16
Prove that the matrices A =|-26 16 8 and B=|0 17 45 are
16 -10 -5 0 -6 -16
similar.

R0 BODN B0 @50 A,B 387000 ©90°306.

Or

State and prove Cayley-Hamiltan theorem.

Bowd-Tr09S AETOBHV (SHD0D DETDOBIR.

3 1 1
IfA=|2 4 2|, test A for diagonalizability.
-1 -1 1
3 1 1
A=|2 4 2| eond, A B, dEPALB $83D0Hod.
-1 -1 1



12.

(a)

(b)

(1) State and prove Parseval’s identity.
F0YHS Boo¥); 1805 AEGDoD DETD0HOE.
(11) State and prove Bessel’s inequality.

B WBHTHS DEGV0D DETV0VOs.

Or

Construct an orthonormal basis of R® using Gram-Schmidt orthogonalization process

from B = {(1,2,3,),(2,0,1),(1,3,0)} .
B = {(1,2,3,), (2,0,1), (1,3,0)} 2009 [_TT"SJ—KE& ©0DES ovag@fo &EIBITR0D 28 ©0LTPVo

R? eSGTO°R) (‘08&0;50&.



B.A. DEGREE EXAMINATION, NOVEMBER 2021.

Third Year

MATHEMATICS IV : NUMERICAL ANALYSIS

Time : Three hours

SECTION A — (8 x 3 = 24 marks)

Answer ALL questions.
Each questions carries equal marks.

Prove that u* =1+i52.
u? :1+i52 DEITDOROD.

Construct a forward difference table from the following data:
&5 (808 &T0F0HNK HBNK 90BHBTED SEIE0 SredroBownw.

x 0 1 2 3 4
y 1 15 22 31 46

Find the missing value in the following:
1808 $58°0%0 D0 ED0VD HEBOK SR KBD.

x 45 50 55 60
fly 30 - 20 0.225

State Bessal’s formula.
BRS JI°BOK0 DEGDOWHW.

Evaluate f(10) given f(x) =168, 192, 336 at x =1, 7,15 respectively.
x=1,7,15 3¢ f(x) =168, 192, 336 @003 f(10) & E0A"WH0.

1
Evaluate J.x?’ dx with five sub intervals by trapezoidal rule.
0

(DBMAT 32)

Maximum : 70 marks

1
BB 50D THO DB FITEIT 250D [« dx d (Bderontd Sriso Troe Ao,
0

Find a real root of x® —3x —4 =0 by the Newton Raphson method.

RIgeIR-T")® HES tgoe &7 —3x —4 = 0 Ao, 28 TR Sorrerry K87 0d.

Solve the equations x+y—-2z=3, 2x—y+2z=0 3x+y—-2z=8 by Cramers rule.
(57500 ﬁ)zgoéom &IBR0D x+y—-22=3, 2x—y+2=0 3x+y—2=8J JBodw.



SECTION B — (4 x 114 = 46 marks)

Answer ALL questions.

Each questions carries equal marks.

9 2
9. (a) (@) Provethat1+65? 2:[1+%] .

2

2
1+62 2:[1+%] DEICDO[AN.

(11) State and prove Newtons forward interpolation formula.
075000 HBHD0N 0BIBFED AIBOR (9D DEIDORIZN.

Or
(b) (@) Use Newton’s divided difference formula and find f(5) from the following data.
1808 $T0ER0 D08 BImgId B B I BHVK IO £(5) D ENET,08.

x -1 0 3 6 7
f® 3 -6 39 822 1611

(11) State and prove Legranges interpolation formula.
B0 0850580 QIPBON [DHV0D DETDODIRN.

10. (a) (@) Using Gauss forward interpolation formula find f(2.5) using the following data :
R HE NP 0BgENd S0 &3IBIR0D &4 (808 S8 To® £(2.5) D Ke30HD0.

x 1 2 3 4
fx 1 8 27 64

(11) State and prove Stirling’s formula.
RB0R Brr@oRn (55900 DETOWI.
Or
(b) (1) State and prove Gauss Backward formula.

0 B 1000 90850580 HI°@™R) (DHD0D DETDOWHBD.

(1) Use Stirling’s formula to evaluate f(25) from the following data :
1808 SEros0H PBoR JreBo esgrdore f(25)Q Ke3ododw.

x 10 20 30 40
fly 1.1 2 44 7.9



11.

12.

(a)

(b)

(a)

(b)

(@)

(i1)

(@)

(i1)

(i1)

(@)

(i1)

Compute f'(4) from the following table.
1808 5638 &DBTR0D f'(4) DN EXE7 Y 0&.

x 1 2 4 8 10
y 0 1 5 21 27

3
Evaluate the integral J.ldx by Simpson’s % rule with n=4 sub intervals
X
1

respectively.

3
2)0!3‘35 % é)"’[_@"&)& &3 R0D J'ldx AATCEOD QD &I0HTO X)ogpé n=4 ©0NIPE
X
1

E208° 0.
Or
Find an approximate value of y for x=0.4 by Picard’s method given that
9D _ g2 iy y(0)=0.
dx

% =x?+)%, 3(0)=0 380D x=0.4 3g ISE-SLS TO°y D@IB EHA0B.
X

Using Euler’s method compute y(0.3) with A=0.1 from the following y'=x+y,
y(0)=1.
y'=x+y, y(0)=1 20 h=0.1 @033’ no0ed 988 oo ¥(0.3) Ke30B0900.

Find a real root of x® —2x —5=0 by the Regula-Falsi method.
2’ —2x -5 =0 DALY BIO5r-79) SES TrgDe T Jorerd LS 08
Solve by the Gauss elimination method of the following system of equations.
&5 1808 g8 o mééabge% TRGO° PP OWVH.
dx+y+z=4
x+4y—-2z=4
3x+2y—-4z=6
Or
Use Gauss-Seidal method to solve the equations.
59 1308 S0EeToD MH-RES SFS Tgo® FPoBID.
x; +10x, +x, =6
10x; +x, + x5, =6

X, +%, +10x, =6

Find a real root of 20x —log;,x =8 by iteration method.
DD apPH0 go 20x —log & =8 K 2.8 TID BTerR) §087,06.



(DAECO31)
B.A. DEGREE EXAMINATION, NOVEMBER 2021.
Third Year
ECONOMICS - ITI(E) - ECONOMIC STATISTICS

Time : Three hours Maximum : 70 marks

SECTION A — (2 x 15 = 30 marks)
Answer any TWO of the following questions

1.  From the following data calculate Bowley’s Coefficient of skewness.

808 &5TPo%0 0é& SO Py KeaseRY) KRG,
Marks: ~ 0-10 10-20 20-30 30-40 40-50 50-60  60-70

(S°50),20)
Students: 6 8 12 15 10 8 6
(&’)w’édc,p)oo)

2. Find out mean deviation from medium from the following data.

1808 &SeroBo ok J0g5BO Tgo° HIEEN0 DHOTRY E0RTH0E.
Wages 0-256 25-50 50-75  75-100 100-125 125-150

DHT)
Workers 10 18 20 30 25 7
(DIIE)

3. Discuss the various methods of collections of primary data.

RBR0% $5Em00 2EBo DG SFBOR HB)0B0s.

4.  Distinguish between dispersion and skewness. What are the various measures of dispersion.
g)g)nde'e, @_&méo 9) ;63<;5§ Ko Do) B I Bs*e g)g)ndsa §PoHoN @@Qo&.

SECTION B — (3 x 8 = 24 marks)
Answer any THREE of the following questions

5.  Compute standard Deviation from the following data.
1808 &@R050 006 (7SI°EIE DWVOTR) SR ok,

Income: 0-100 100-200 200-300 300-400 400-500 500-600
(eszP000)

No .of Persons 5 12 20 30 20 13
(;Séé_%e) X)ogpé)



10.

11.

12.

13.

From the following particulars calculate Rank correlation.
1808 500 o0& §°8 (Rank) IPH0205°R) SM0A"H0G.

X 70 75 80 60 55 75 100 120 75
Y 60 55 40 80 78 80 65 100 88

Construct cost of living index number from the following data using family Budget method.

808 Szmo0 M0l Hewow wFE IFBD 5D H50h B0 Sogsy DB

2018 2019
Commodity Price Quantity Price

PD) () (IBDre0)  (B5Y)

A 6 40 8
B 10 80 6
C 5 30 5
D 4 25 6

Find out correlation using regression coefficients of X and Y
X, Y o [98K00 857080 &I@BIR02 SPd0005°) E0AH0E.

X 20 22 25 28 30 35 40
Y 18 19 20 25 28 32 35

Discuss the role of statistics in the measurement of Economic Activity.

685 seEgEerr o §P005"R8 HeroEzPgo Bowl); B0 HBYoDos.

What is an index number? What are types of index numbers?
Boed J0g)5 SVMTR? DA 857 I JoesB?
SECTION C — (4 x 4 = 16 marks)
Answer any FOUR of the following questions

Definitions of Statistics.

r‘{woé?go DEHD0.

Sources of collection of secondary data.

BIBOD ESTOFHRD VESEED DOTHEoTe.

Various methods of measuring trend.

BB 570D 92¢5 Jggdoen.



14.

15.

16.

17.

18.

Differences between correlation and regression.

BIPRH020G0, [$BKH0O B¢ Been.

Importance of Agriculture statistics.

zéé‘bavoti) Ke3°05°0) L@vma)éé.

How do you calculate coefficient of variation? What are its uses?

DHOD KHEISR) ADPOTT BEY,0B0K? TR SIBITBI?

Seasonal variational and cyclical variations.

20BOIDD DDBeTeL, HI80H JDeTeD.

Objectives of classification of data.

$T°0% HBEYes BIY); SBT50.
—o N [



(DAECO32)
B.A. DEGREE EXAMINATION, NOVEMBER 2021.
Third Year

ECONOMICS —1II (E) - PUBLIC ECONOMICS

Time : Three hours Maximum : 70 marks

SECTION A — (2 x 8 = 16 marks)
Answer any TWO of the following questions.

Explain the principle of maximum social advantage.
KB Re00¥ (5A3esd ﬁ)zgowéo& DHBoBIDW.

What are the characteristics of good tax system?
200D 0“3:6301 AP0 OFETOR BOYIW.

Describe the causes for growth of Public expenditure.
(0E0Bg D0 DENEOLD SPEETORL DHBOWKRN.

Write about the problems of Public Enterprises in India.
ARSI o TON (2985085 éoé)e» AEBIE7);060%) VO HBOD (F°050HW.

SECTION B — (3 x 14 = 42 marks)
Answer any THREE of the following questions.

What are the differences between Public Finance and Private Finance?

(2085 DB DoBosw @Tf)w DHH00 Y DITVOR SOIYI0.

What are the causes for growth of Public debt in India? And explain various
methods of debt redemption.

BPSBRH0S (DgOBg 220800 DENEL S8 @e‘b, 2089 DATPIDI° 59@30:@3

DHBOWIDN.

Describe the centre and state financial relations in India.

PFEBBFOS” B0 T HELT G D0y I HOWOTOR) HHBOWR.

Explain the effects of Taxation on production and distribution.

&8 B08a0 SoDEBOP SRy (HETeRY IHBOVIR.

Q-



10.

11.

12.

13.

14.

15.

16.

Describe Budget as a means of operationalising the planning process.

DO (HBA0 DODADLD BFEW 500)g FEVRDBIOBD VSB0BIR.

Define Indirect Tax and explain the merits and demerits of Indirect Taxes.

567, 5% R DEGDOD, HB°E Hape MHeTe HBA) e d980wmDw.

SECTION C — (3 x 4 = 12 marks)
Answer any THREE of the following.
Sources of Public revenue.

[DEoBs TPl TR0,

Proportional tax and progressive tax.

@0 DY) WBAL HETPRL 5Dy,

Types of Budget.

202G 5P,
23

Internal debt and external debt.

@0BEB 210e9500 B ao?&;éé 2000€9:500.

Merits of direct tax.

(DBgE, I AordEseRL.

Deficit finance.

S (8550




(DAECO33)
B.A. DEGREE EXAMINATION, NOVEMBER 2021.
Third Year

ECONOMICS - IV — RURAL DEVELOPMENT

Time : Three hours Maximum : 70 marks

SECTION A — (2 x 8 = 16 marks)
Answer any TWO of the following questions.

Explain the concept of Rural Development and scope of rural development.

Lwﬁ)oes‘ep‘bg)g PO DHB0H 08K T°R HBHD K708y [raod.

Discuss about the problems of Health, Nutrition and Medical care in rural areas.

00 Promr s esBi50, 2550 BV Pi5 SBEEES® Ko BRI JHBoYDW.

Write about the importance of Rural Industrialization.

[9oge FBEEEEE DY) (FPB0gBR0 80D Fa50Bw.

Define Rural migration and explain its impact on rural development.

[PV SOOIV SGD0D 0Bk Lwﬁ)owe&ég)ggz R |Sgrarenn K178y dHBoHod.

SECTION B — (3 x 14 = 42 marks)
Answer any THREE of the following questions.

What is meant by rural indebtedness? Explain its nature and problems.

[TR03 200E3ZTE0 BRI VA? TR JETI500 B0 FHOIGORO DHBOYHH0.

Explain in role of cottage and small scale industries in rural development and
mention their problems.

Lwﬁ)oweﬂég)géﬁ €635, DY) BEFF IO B DHB0D WBAN @D EE)WRY
QODIORD DI*DOa.
Write about the various Rural Development Programmes.

DY BsPe Lwﬁ)owepzsg)g S50 K809 [EPA[W.



10.

11.

12.

13.

14.

15.

16.

Explain the problems of rural labour in different sectors of India and suggest

suitable measures to solve their problems.

PPEBHLE DG SorreS® eues (B D050 B JoBaAf &3 HHoVge AIBEaLd G

DEGORO de)o&.

Write about the nature and intensity of Rural unemployment and explain

minimum wage legislations.

d0ed DEESRS B S0B0%0 SRS BE) S0B0kw KB DD Bepen Beyod.

Explain the pattern of land holdings and causes for inequalities in land

distribution.

B Ed0mm0 BB H0B0L0 2700 FOVRIS® SITHBOLH SEETOR ISB0IHAW.

SECTION C — (3 x 4 = 12 marks)
Answer any THREE of the following questions.
Gandhian philosophy.

o8BS erdd.

Rural Banks.

[T0es 237505000,

NREP.
J5.e38.9.9.

Family Welfare Programmes.

K600 oG HeSseen.

Rural Migration.

(does Hoden.

Explain about Panchayat Raj and ITDA.
Sowrond oof 08a50 2.63.6.2). K°8) HHB0Wos.




(a)
(b)

()
(b)
()
(b)
()
(b)

(a)
(b)
(a)
(b)
(a)

(b)
(a)
(b)

(DBSTT 31)

B.A. DEGREE EXAMINATION, NOVEMBER 2021.
Third Year
STATISTICS — III: APPLIED STATISTICS

Time : Three hours Maximum : 70 marks
SECTION A — (4 x 12% = 50)
Answer any FOUR of the following.
Explain sampling and describe census versus sampling survey.

Explain the method of SRS. Also obtain variance of sampling mean in case of
SRSWOR.

Explain ANOVA of one — way classification.

Explain ANOVA of Two — way with single observation per cell.
Explain Latin square design.

Explain CRD and advantages and disadvantages.

What are the charts for attributes? How are they useful?

Define SQC. How do you construct
a standard deviation chart.

Explain crude death rate, specific death rate and standardized.
Explain sources of population data.

Explain the method of determining seasonal indices.

Discuss various models of time series.

What 1s meant by an index number? Write some of the uses of index
numbers.

Explain Reversal tests of index numbers.
Explain Agricultural Statistics.

Explain functions of N.S.S.0



()
(b)
(©
(d)
(e)
®
(8
(h)
(@)
@

SECTION B - (10 x 2 = 20 marks)
Answer the following Questions.

Sampling errors.
Define ANOVA.

Yield.

Define P — chart.
Sampling distribution.
Define area statistics.
Uses of index number.
Yield.

Define C.S.0.

Define SQC.

(DBSTT 31)



(DBSTT32)

B.A. DEGREE EXAMINATION, NOVEMBER 2021.
Third Year
STATISTICS IV —OPE. RES. COMP. PROGRA. AND NUME. ANALY.
Time : Three hours Maximum : 70 marks
SECTION A — (4 x 12 % = 50 marks)
Answer any FOUR of the following.

1. (a) Explain the scope of operations research.

$BF ST (S8 GBoot); HBHD HBoWB.

(b) Determine an initial basic feasible solution to the following transportation problem by
using VAM method

1808 Sarer X)‘Q)K)éég éuﬂe% ewa‘;ooooo“g) bg@ o°go° &9 esped éga@nqs;sm E0ATRHOD.

To (S8%)

Supply
I II II1 v (5550°)

A 13 11 15 20 2000

B 17 14 12 13 6000

C 18 18 15 12 7000

Demand
(Ro~2) 3000 3000 4000 5000

2. (a) Write the principal steps in simplex method for solving LPP.
LPP 5 3809508050 ﬁ)o';(géo‘\) Zage?BeS‘s KO OGP 90300 EPa0G.

(b) Use graphical method to solve the following LPP.
PSS 558 megoe &+ (808 DEITB (HETVE F0D50 APOBID0.

Maximize (K83) Z="7x, +5x,
Subject to constraint (DevosTeen égéb&wag)

Xq +2x2 <6

4x, +3xy <12

and (J08as») x;, 2920



(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

Explain the method of finding optimal solution of two-person zero-sum games.

B D50 B6°-55 Ady) o8, WPERBADH 5HR SO IZBR 258D

Solve the following 2-person zero-sum game

Bo8 o0y ag Sge B8°-30 R0 FPoHod.

Player B
B: B2 Bs
Player A A1 15 2 3
As 6 5 7
As -7 4 0

Write the rules of network construction.

5L, DTYEIO BN, AADITOH 000G,

Draw a network diagram for the following data

&8 308 BT0TR8 Ve5HB), BPeIBR) AAHOE.

Activity (S°6§§e)°@°®3) A BCDE F G H I J

Preceding activities None

(So2098 sogssm)  (DEsew) 4 A B A BECDEFGHI

State and prove Newton’s backward interpolation formula.

075000 6 KD WOBEHED A (EPR) (HDD0D, DETI0HOE.

Construct a forward difference table from the following data.

1808 &Seros Hod HEHAD Zﬁw"éég bggm EI0A000.

x 0 1 2 3 4
v 1 15 22 31 46

Evaluate (350°809) A” v, .

5.2
Evaluate the integral jlogx dx , using Weddle’s rule.
4
5.2
36y By SS5@TRD J-logx dx & SH7EDD EH8%08.
4
1
Evaluate I\/1+x3 dx , taking A=0.1 using Simpson’s %rd rule.
0

1
BoS £ ey &56rRod [I+a’ dx BED h= 0.1 R0,
0

2



(a) Use Gauss-Seidal iteration method to solve the system
TR-RES HHKE LS Tgoe S+ (808 IWESETOR FHOoWID0.

10x + y+ z =12
2x+10y+2z=13
2x+2y+10z=14

(b) Find the root of the equation xlog,, (x)=1.2 using Falsi-position method.
7oy D5 IE® 5o xlog), (x)=1.2 DAELePRS Dorery) SRR D

(a) Discuss about charts in MS-Excel.
MS-Excel &° 32§ /809 ©580:0500.

(b) How do you enter and edit the data in MS-Excel? Explain briefly.
MS-Excel &° Gex enter 08050 edit der DabHixed) K330 DDBoWHN.

SECTION B — (10 x 2 = 20 marks)

Answer the following questions.

(a) Explain allocation models.
BeP00005) DSaTearen 980D,

(b) Write unbalanced transportation problem.
OBITHS Garrese SZ0RGD (F°000C

(¢) What is key element?
& 0¥ @HT D072

(d) Give two applications of assignment problem.
B ROIN0E5 DHR5 B, BO RDGHHNVOR BEOHHN.

(e) Write the applications of linear programming problem.
DEITB (SEPVE Ty B, SRDTTOR AN,

()  Distinguish between CPM and PERT.
PERT 08050 CPM pualY B [DPo0E.

(g) What are the characteristics of a game?
28 €560 Boo%); OFETO) A0e3?

(h) Define (1) Strategy and (i1) Optimal strategy.
(1) Yegro D080k (it) JFD Yrgro o Ve SHleinleleR

(1)  Write the formula of trapezoidal rule.
0002 QI° B0 KB [FPAS0N.

()  Write the features of MS-excel.
MS-excel %5y [Fr0505.




